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" MICROTEST 2 (12.11.2024) SOLUTION

Botany: Biological Classification

Zoology: Structural organization in animals
Chemistry: Structure of Atom

Physics: Motion in a Straight Line
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Solution

Answer: (3)
Answer: (4)
Answer: (4)
Answer: (4)
Answer: (1)
Answer: (2)
Answer: (2)
Answer: (4)
Answer: (3)

. Answer: (2)

. Answer: (3)

No. of angular nodes =l & | value forsand p =0
& 1 respectively.

. Angular nodes for 4s and 2p are 0 and 1
respectively.

Answer: (3)

Orbital angular momentum
=J1(L + 1)%

22+ D=6~

Answer: (1)

For Lyman seriesni =1 &ny =3
(ny—ny)(np—ny+1)
2

.. Number of spectral lines =
_ (3-1)(3-1+1) _ (3%x2) _
= - ===

Answer: (3)

Since KE = hv — hvo therefore kinetic energy of
photoelectrons increases linearly with increase in
frequency.

15. Answer: (2)
5=RuZ? (5 - )

ni nj
For Paschen Series shortest wavelength:
ng=3,Ny=00
D= 2w (L _ o) =Ru
S TU=Rux (1) x(32 0) 5
16. Answer: (3)
Ball will stop momentarily at t = 3.5 s.

Distance travelled in 4" second will be

S= 2x%a(0.5)2

= S=2><%><10(0.5)2 =25m

17. Answer: (1)
v =6t+ 3

dx 2
— =16t +3t
= (6t+3t7)

X 3
[dx = (6t +3t%)dt,
0 0

3
[ (6t +3t%)dt
0

v, =————=18m/s
av (3_0)

18. Answer: (2)
T =5 second (Time of flight)
bh+t=T
b=T-T
=5-2=3second

19. Answer: (3)

30x L1512
v, =—3 3 =20 km/h
20. Answer: (2)
1 2
S65) Ea(S) 25
S, 9

5 %a[2><5—1]

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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